AL ABE202455 i 142 Va2l U B se v 4

I R = 5 (B B = 27 ) 2D

1 401 ARHERTHRE | PR CF A 87 87 371 486 571 514
2 | o | A | ey | RIRY URBISSIERES o, 204 | a1 | 514 552 531
3 403 ARHERTHRE | B A @i((j%gfg)i@@ 5 5 371 516 532 523
4 756 RRPRRTIAL | PBE+b e G B D E R TARL PEASK 56 56 371 410 493 443
5 757 RRPRRTIAL | WEE+AEY) G B D E R TARL PEASK 10 10 371 425 455 443
6 102 ARHF@EAL | PR s = 2 39 39 371 555 578 562
7 102 ARHFEAL | PR =58 200 200 371 461 583 507
8 102 ARFEAL | PR VAR 46 46 371 455 501 464
9 102 AREBREEAL | P i R = 5 580 580 371 451 581 519
10 102 ARBREEAL | P RS IRIT 2 43 43 371 450 489 460
11 102 AREBREEAL | P R RN 42 42 371 449 512 464
12 102 AREBREEAL | P RS YIIRIT 44 44 371 445 492 457
13 102 ABREEAL | P 2 105 105 371 444 514 458
14 102 ABREEAL | P DA S5 45 24 371 441 495 450
15 102 AREREEAL | P Hh 24 % 108 108 371 441 507 455
16 102 ARHEEAL | PR AR EOR 95 95 371 440 519 457
17 102 ARREEAL | P PR SRR 43 43 371 440 487 449
18 102 ARREEAL | P Tl = 87 87 371 440 517 455
19 103 AEHF@EAL | DAY Eabs 2 148 148 371 448 520 458
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20 103 Y+ By 18 14 371 448 482 457
21 104 Y+ AR EIE 16 16 371 440 467 447
22 104 PER+AN PR B 17 17 371 431 451 437
23 104 YR+ AR R i 38 5 8 47 47 371 439 487 448
24 104 YRR 78 8 16 16 371 431 451 435
25 104 PER+AN PR ASLFAE B 32 24 371 431 450 436
26 104 /RN 58 54 Rk 14 14 371 431 442 434
27 104 Y+ fa Rk 2% 58 13 13 371 441 471 451
28 742 /BEiRE ARe BT 7 (RIRYD 3 3 371 487 506 496
29 742 /BEiRE ARe FRE DR (R 3 3 371 476 494 484
30 742 YEE L PRy (RIGYD 3 3 371 525 537 530
31 742 VB B AR HR (RIRIE) 3 3 371 483 504 492
32 742 BN AR Bk e iR (RIRIE) 3 3 371 478 492 485
33 742 VB B2 SEER AR (RIRIE) 3 3 371 477 514 492
34 742 Wy | PARE S (RIEYD 3 2 371 486 517 501
35 742 BN AR EVER (RIEYED 2 2 371 477 483 480
36 742 BN AR 255 (R 2 2 371 495 507 501
37 742 YIER+k 2 Tz (RIRPE 2 2 371 483 488 485
38 742 YyEE L TpFES (RRYD) 3 3 371 484 520 507
39 758 YIEL+A= ) DR TR BEB K 30 30 371 447 505 460
40 759 YIER+4k 2 DR TR BEB K 61 61 371 453 530 473
41 113 i 400 418 497 442
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42 113 5 s+ A= Bhy=2 37 18 400 420 461 433
43 114 3 52+ AR 33 33 400 449 469 455
44 114 3 52+ AR 35 34 400 440 466 445
45 114 3 AR NRZE=%:] 33 33 400 440 458 445
46 114 3 S+ ANBR o A K=t 67 67 400 441 490 450
47 114 7 S+ AR 57 S5k PR 33 33 400 440 460 445
48 114 i s+ A PR g RS 5 30 30 400 447 488 454
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